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o1 (YHKIIUU I CIENYIONINX 3HAYCHHMA

=6, Xs=7,X%X;,=8, X3 =9, X4 =10, x,, =11
Haxonum cooTBeTCTBYIO = \/Xs—+3
Yo=2 ¥y, =411=3317, y, =
Yo =~/219=14,799, vy, = ‘ 515=22,694, y, =+/732=27,055,

y, =+/1003=31,670, y,, =
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[V 3= Yo+ o Ay, * Y+ Y + 4 Yo + Ys)] =
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= %[2 +36,524+ 4(3,317+8,1815+14,799%+ 22,6 ,670)+2(15,477+11,314+18,601+ 27,055] =

. %[ 38524+32266+124894 = 162026 \ 4 a
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:Limln(ln X) :Lim(ln(ln b) — In(INYYF=
— 00 2 — 00

Tdx . % dx . td(nx)
I :Ilmj :Ilmj
S XInx  boed XInX boed INX

T.e. HECOOCTBEHHBIM HMHTETrpal PacXOIUTCS.
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y
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1+x2_X
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D=1+8=9 ’0
2 _1_3
= —=-2
Xl : 0

X3 :%=1:> xP =1 xP =-1
h (2 1, i3

v, =1 ydy+nj(§— oly:Enyz\0 +T(2In(y) - y)|; = +Ti2in 2|
0 1

= 7_2T +1(In4-1)(ky6.e0.) = 278ky6.0.
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